O
) LaserPecker

Rotary Extension

User Manual | Benutzerhandbuch
Manual de Usuario | Manuel d'utilisation




@
Y
(®)
o
n
N
o
n
o
- |
da



Package List

Component Overview

g J A\

Single-step Jaw

Stud Component
x3 x3 x3
Rotary Headstock Base Plate Tailstock
x1 x1 x1
\ y
Elevation Pad 1.0m Cable Measuring Tape
x1 x1 x1
it !
M3x6 Screw x 6 Hex Key Riser Add-on x 1
M3x10 Screw x 4

H2x1H25x1H3x1

(Optional)

Lock Button

LED Indicator

i -~ Lever
1

USB-C

! i b
Power Input ! | !

m

1
Sp-
i
) qIGrip

USB-A
Power Output

Angle Adjustment Knob

01



Headstock Assembly

Attach the Rotary Headstock to the Base Plate with 4 M3x10 screws.

Tighten the screws securely
using the H2 Hex Key.

02



Jaws / Stud Assembly

Double-step Jaws Installation
For materials 1 mm to 128 mm in diameter.

Attach the three Double-step Jaws to the rotary chuck with 6 M3x6 screws.

Tighten the screws securly
using the H2.5 Hex Key.

03



Jaws / Stud Assembly

Single-step Jaws Installation
For materials 66 mm to 145 mm in diameter.

Attach the three Single-step Jaws to the rotary chuck with 6 M3x6 screws.

Tighten the screws securly
using the H2.5 Hex Key.

04



Jaws / Stud Assembly

Stud Installation
For materials 13 mm to 78 mm in diameter.

After determing the material's diameter, screw the three Studs into the coresponding holes in the rotary
chuck.

Screw studs
in place

05



Tailstock Assembly

0 Slide the Tailstock onto the track of the @ The Tailstock is used to support cylindrical
Base Plate. objects that are attached to the rotary chuck.
Once the position of the Tailstock is set for
the material being used, turn the lever to lock
itin place.

06



Rotary Extension Leveling

Position the Elevation Pad under the Rotary Headstock to level it with the Laser's Base Plate if needed.

07



Rotary Chuck Adjustments

o To lock the angle of the chuck, align the white
dots on the chuck with the arrow indicator and
press down on the Lock Button.

*The Lock Button can be used to secure the starting
position and prevent unintended movement.

08

9 To accomodate larger diameter materials,
rotate the chuck counterclockwise to open the
jaws.




Rotary Chuck Adjustments

9 Tighten the chuck clockwise using the Hex Key 9 Unlock the chuck by pressing the Lock Button
H3. so it will rotate again.

Press up the
Lock Button

09



10

Engraving Angle Adjustments

o Turn the Angle Adjustment Knob counter-

clockwise to adjust the engraving angle of the
Rotary Headstock.

i

@ Tighten the Knob clockwise using the Hex Key

H3 and lock in the desired angle of the Rotary
Headstock.

© Loosen the knob at the top of the Tailstock to
adjust the height of the attached material so

that itis level. Tighten the knob to secure the
position of the Tailstock.

Rotate the knob




Cable Connection for LP4 and Rotary Extension

USB Port for USB Port for Accessory

Conical Protective Cover

DC Power Port

Rotary Extension
USB-C Power Input

To use the Rotary Extension,
the Riser Add-on must be
installed between the LP4 Laser
Unit and Electric Stand. Tighten
the two knobs to secure the
Riser Add-on in place.

Rotary Extension
Electric Stand Power Input USB-A Power Output

1A



Cable Connection for LP5 and Rotary Extension

DC Power Port USB Port for

Conical Protective Cover

USB Port for
Electric Stand

USB Port for Accessory

Rotary Extension
Power Input

Electric Stand
Power Input

For more information on cable connection between different machine models and the accessory,
please visit support.laserpecker.net.

12



Using Rotary Extension with LDS App Getting Help

After positioning the Rotary Extension and If you encounter any technical issues, please do
connecting it to the Laser Unit, open and connect not hesitate to reach out to our customer support
the machine in the App, and activate the Rotary team at support@laserpecker.com.

Extension mode in the mode settings. . .
N L ) For more information about products and
Refer to the separate cable connection diagram sheet and online

product page for detailed instructions on properly connecting the after-sales services, visit Squort'laserpeCker'net'
cables and positioning the accessory.

Video Tutorials

<“°=“. Hodle Settings Scan the QR code below to learn how to use the
deugRe Rotary Extension.

Free Mode
GCode

Wersatile Electric Roller

Rotary Extension T &) Y
Slide Extension

Slide Extension Multi-file Mode

Batch Engraving Button

13



Technical Specifications

Size 308 x 108 x 99 mm
Weight 1.7 kg
Appearance Aluminum alloy

Chuck Diameter Range

52 mm-80 mm

Maximum Engraving Diameter

200 mm

Engraving Diameter Range

Single-step Jaw: 66 mm - 145 mm

Double-step Jaw: 1 mm - 128 mm

Stud Component: 13 mm - 78 mm

Supported Operating Systems

iOS 9.0+, Android 6.0+, macOS 10+, Windows 10+

Power Input 5V/1A
Angle Precision 0.014°
Idling Movement Speed 140.625°/s
Maximum Engraving Speed 117.1875°/s
Minimum Engraving Speed 11.25°/s

14




Packliste, Inhalt

Komponententibersicht

g J A\

Doppelstufige Backe Einstufige Backe Ringhalterungsstifte
x3 x3 x3
Rotationskopfeinheit Grundplatte Reitstock
x1 x1 x1
y
Unterlegplatte 1,0 Meter Kabel MaBband
x1 x1 x1
¥ !
M3x6 Schrauben x 6 Inbusschlussel Erhdher-Aufsatz x 1
M3x10 Schrauben x 4 H2, H2,5 und H3 x1

(Optional)

Sperrtaste

LED Anzeige

i < Hebel

USB-C |
Stromeingang |

USB-A
Stromausgang

Winkeleinstellknopf

15




Montage der Kopfeinheit

Befestigen Sie die Rotationskopfeinheit mit 4 Stlick M3x10-Schrauben an die Grundplatte.

Ziehen Sie die Schrauben sicher
an mit dem H2 Inbusschlissel.

16



Montage der Backen/Ringhalterungsstifte

Montage doppelstufiger Backen
Fur Objekte mit einem Durchmesser von 1 bis 128 mm.

Befestigen Sie drei doppelstufige Backen an das Spannfutter mit 6 Stlick M3x6-Schrauben.

Ziehen Sie die Schrauben sicher
an mit dem H2,5 Inbusschliissel.

17



Montage der Backen/Ringhalterungsstifte

Montage einstufiger Backen
Fur Objekte mit einem Durchmesser von 66 bis 145 mm.

Befestigen Sie drei einstufigen Backen an das Spannfutter mit 6 Stlick M3x6-Schrauben.

Ziehen Sie die Schrauben sicher
an mit dem H2,5 Inbusschliissel.

18



Montage der Backen/Ringhalterungsstifte

Montage der Ringhalterungsstifte

Fur Objekte mit einem Durchmesser von 13 bis 78 mm.

Nachdem Sie den Durchmesser des Objektes festgestellt haben, schrauben Sie die drei Halterungsstifte
in die entsprechenden Locher an dem Spannfutter.

Ziehen Sie die
Halterungsstifte fest.

19



Montage des Reitstocks

o Schieben Sie den Reitstock auf die Schienen 9 Der Reitstock wird verwendet, um zylindrische
der Grundplatte. Objekte zu stlitzen, die am Spannfutter befestigt
sind. Sobald die Position des Reitstocks flir das zu

gravierende Objekt eingestellt ist, drehen Sie den
Sicherungshebel, um ihn an Ort und Stelle zu
verriegeln.

20



Ausrichten der Rotationseinheit

Positionieren Sie die Unterlegplatte unter die Rotationskopfeinheit, um sie bei Bedarf mit der Grundplatte
der Lasermaschine horizontal auszurichten.

21



Anpassungen des Spannfutters

o Um den Winkel des Spannfutters zu verriegeln, 9 Um Objekte mit groBerem Durchmesser

richten Sie die weif3en Punkte auf dem unterzubringen, drehen Sie"olas Futter gegen
Spannfutter mit der Pfeilanzeige aus und den Uhrzeigersinn, um die Offnung der Backen
drlicken Sie die Sperrtaste. anzupassen.

*Die Sperrtaste kann verwendet werden, um die
Startposition zu sichern und unbeabsichtigte
Bewegungen zu verhindern.

22



Anpassungen des Spannfutters

9 Ziehen Sie das Spannfutter im Uhrzeigersinn
mit dem Inbusschllssel H3 fest.

e Entriegeln Sie das Spannfutter, indem Sie die
Sperrtaste erneut drliicken, damit es sich
wieder drehen kann.

23



Anpassungen des Gravurwinkels

o Drehen Sie den Winkeleinstellknopf gegen den
Uhrzeigersinn, um den Gravurwinkel der

@ Lssen Sie den Knopf an der Oberseite des
Rotationskopfeinheit einzustellen.

Reitstocks, um die Hohe des befestigten
Objektes so einzustellen, dass es horizontal

ausgerichtet ist. Ziehen Sie den Knopf fest, um
die Position des Reitstocks zu sichern.

0

Drehen Sie den Knopf

@ Ziehen Sie den Knopf im Uhrzeigersinn mit dem
Inbusschliissel H3 fest und verriegeln Sie den
gewlinschten Winkel der Rotationskopfeinheit.




Kabelverbindung fir LP4 und Rotary Extension

USB-Anschluss flir Zubehor

USB-Anschluss flr die
konische Schutzhiille

Gleichstromanschluss

Rotary Extension
USB-C-Stromeingang

Um die Rotary Extension zu verwenden,
muss der Erhdher-Ansatz zwischen der
LP4-Lasereinheit und dem elektrischen
Stdinder installiert werden. Ziehen Sie
die beiden Knépfe an, um den
Erhéher-Ansatz zu sichern.

Stromeingang des Rotary Extension
elektrischen Stdnders USB-A-Stromausgang

25



Kabelverbindung fir LP5 und Rotary Extension

Gleichstromanschluss USB-Anschluss flir die

konische Schutzhlille

USB-Anschluss fiir den
elektrischen Stdnder

USB-Anschluss fur Zubehor

Stromeingang der
Rotary Extension

Stromeingang des
elektrischen Stdnders

Fur weitere Informationen zur Kabelverbindung zwischen verschiedenen Maschinenmodellen und
dem Zubehor besuchen Sie bitte support.laserpecker.net.

26



Die Rotary Extension mit der LDS-App verwenden

Hilfe Bekommen

Nachdem Sie die Rotary Extension positioniert und
mit der Lasereinheit verbunden haben, 6ffnen und
verbinden Sie die Maschine in der App und
aktivieren Sie die Rotary Extension in den
Moduseinstellungen.

* Detaillierte Anweisungen zum richtigen Anschlief3en der Kabel
und zur Positionierung des Zubehdrs finden Sie auf dem

separaten Kabelverbindungsdiagrammblatt und der
Online-Produktseite.

£Back

Mode Settings

Working Beep

wa

Free Mode
GCode

versatile Electric Roller

Raotary Extension
Slide Extension

Slide Extension Multi-file Mode

Batch Engraving Butten

Wenn Sie auf technische Probleme stof3en, wenden
Sie sich bitte an unser Kundensupport-Team unter
support@laserpecker.com.

Weitere Informationen zu Produkten und
After-Sales-Dienstleistungen finden Sie unter
support.laserpecker.net.

Videoanleitungen

Scannen Sie den QR-Code unten, um zu lernen,
wie Sie die Rotary Extension verwenden.

27



Technische Spezifikationen

Abmessungen 308 x 108 x 99 mm
Gewicht 1.7 kg
Aussehen Aluminiumlegierung

Durchmesser des Spannfutters

52 mm-80 mm

Maximaler Gravurdurchmesser

200 mm

Gravurdurchmesserbereich

Einstufige Backe: 66 mm - 145 mm

Doppelstufige Backe: 1 mm - 128 mm

Ringhalterungsstifte: 13 mm - 78 mm

UnterstUtzte Betriebssysteme

iOS 9.0+, Android 6.0+, macOS 10+, Windows 10+

Eingangsleistung

5 Volt /1 Ampere

Winkelgenauigkeit

0,014 Grad

Leerlaufgeschwindigkeit

140,625 Grad pro Sekunde

Maximale Gravurgeschwindkgkeit

117,1875 Grad pro Sekunde

Minimale Gravurgeschwindkgkeit

11,25 Grad pro Sekunde

28




Lista de Contenido del Paquete Descripcion General de los Componentes

Boton de bloqueo
Indicador LED

Mordaza de doble paso  Mordaza de un solo paso Abrazadera anular (Perno)

| i i < Palanca
x3 x3 x3 | ! |
Entrada de i i i B
Alimentacion | i !
Cabezal del Eje Placa de base del Soporte de f ‘ ‘ ;
de Rotacion Cabezal del Eje de Rotacion  Posicionamiento : i
x1 x1 x1 /
\ y
Almohadilla de elevacion Cable de datos 1.0 m Cinta métrica
x1 x1

x1

Salida de Potencia
Eléctrica USB-A

3 r -

Perilla de ajuste de angulo

Tornillos M3x6 x 6 Llave Hexagonal

Accesorio de Elevacion x 1
Tornillos M3x10 x 4 H2x1H25x1H3 x1

(Opcional)

29



Montaje de la Cabeza del Eje de Rotacion

Fije la cabeza del eje de rotacion a la placa de base del eje de rotaciéon con 4 tornillos M3x10.

Asegure los tornillos firmemente
con la llave hexagonal H2

30



Montaje de Mordaza / Abrazadera o Perno

Instalacion de Mordaza de Doble Paso
Para materiales con diametro entre 1mm hasta 128mm.

Coloca las tres mordazas de doble paso en el mandril rotatorio con 6 tornillos M3x6.

Ajusta los tornillos firmemente
utilizando la llave hexagonal H2.5.

31



Montaje de Mordaza / Abrazadera o Perno

Instalacion de Mordaza de Solo Paso
Para materiales con diametro de 66 mm a 145 mm.

Coloca las tres mordazas de un solo paso en el mandril rotatorio con 6 tornillos M3x6.

Apriete los tornillos firmemente
utilizando la llave hexagonal H2.5.

32



Montaje de Mordaza / Abrazadera o Perno

Instalacion de la Abrazadera Aular o Perno
Para materiales con diametro de 13mm a 78mm.

Después de determinar el diadmetro del material, atornille los tres pernos en los agujeros
correspondientes del mandril rotatorio.

Atornille los
pernos en su lugar

33



Ensamblaje del Soporte de Posicionamento

o Desliza el Soporte de Posicion sobre la 9 El Soporte de Posicion se utiliza para soportar
guia de la Placa Base. objetos cilindricos que estdn sujetos al mandril
rotatorio. Una vez que se ajuste la posicién del
Soporte para el material que se estd utilizando, gire
la palanca para asegurarlo en su lugar.

34



Nivelacion de la Extension Rotatoria

Coloca la Aimohadilla de Elevacion debajo del Cabezal del Eje de Rotacién para nivelarlo con la placa
base del Idser si es necesario.

35



Ajustes del Mandril Rotatorio

o Para bloguear el dingulo del mandril, alinea los 9 Para acomodar materiales de mayor didmetro,

puntos blancos en el mandril con el indicador gire el mandril en sentido contrario a las
de flecha y presiona hacia abajo el boton de manecillas del reloj para abrir las mordazas.
bloqueo.

* El botén de bloqueo se puede utilizar para asegurar

36



Ajustes del Mandril Rotatorio

9 Apriete el mandril girandolo en el sentido de las e Desbloquee el mandril presionando el boton de
manecillas del reloj utilizando la llave bloqueo para que pueda girar nuevamente.
hexagonal H3.

37



Ajustes del Angulo de Grabado

@ Gire el Botdn de Ajuste del Angulo en sentido © Afloje el botén en la parte superior del Soporte
contrario a las manecillas del reloj para ajustar el de Posicionamiento para ajustar la altura del
dngulo de grabado del Cabezal del Eje de material adjunto y asegurarse de que esté
Rotacion. nivelado. Apriete el botén para asegurar la

7 - posicion del Soporte de Posicion.
H} Gire la perilla

Dk a

@ Apriete el botén girando en sentido a las
manecilllas del reloj utilizando la llave
hexagonal H3 y bloquee el dngulo deseado del
Cabezal del Eje Rotatorio.

38



Conexion de cable para LP4 y Extension Rotatoria

Puerto USB para
Cubierta Protectora Cénica

Puerto USB para Accesorios

Para usar la Extensiéon Rotatoria, se
debe instalar el Accesorio de =L

y el Soporte Eléctrico. Apriete los dos
botones para asegurar el Accesorio

Puerto de alimentacion DC

=
Elevacion entre la Unidad Laser LP4 b\
e
2~

de Elevacién en su lugar.

Entrada de Alimentaciéon
del Soporte Eléctrico

4@7%

Entrada de Alimentacion
USB-C de la Extension Rotatoria

Salida de Alimentacion
USB-Adela
Extension Rotatoria

39



Conexion de cable para LP5 y Extension Rotatoria

Puerto de alimentacién DC Puerto USB para

Cubierta Protectora Cénica

Puerto USB para
Soporte Eléctrico

Puerto USB para Accesorios

Entrada de Alimentacién
de la Extension Rotatoria

Entrada de Alimentacion
del Soporte Eléctrico

Para obtener mds informacion sobre la conexion de cable entre los diferentes modelos de
madquina y los accesorios, por favor visite support.laserpecker.net.

40



Uso de la Extension Rotatoria con la App LDS

Para obtener ayuda

Después de posicionar la Extension Rotatoria 'y
conectarla a la Unidad Ldser, abre y conecta la
madquina en la App, y activa el modo de Extension
Rotatoria en los ajustes de modo.

*Consulta la hoja de diagrama de conexion de cables adjuntada y
la pdgina del producto en linea para obtener instrucciones
detalladas sobre como conectar correctamente los cables y
posicionar el accesorio.

£Back Mode Settings

Working Beep
Free Mode

GCode

versatile Electric Roller

Raotary Extension

Slide Extension

Slide Extension Multi-file Mode

Batch Engraving Butten

Si encuentras algun problema técnico, no dude en
contactar a nuestro equipo de apoyo al cliente en
support@laserpecker.com.

Para obtener mds informacion sobre productos y
servicios posventa, visite support.laserpecker.net.

Tutoriales en Video

Escanea el codigo QR a continuacion para
aprender coémo usar la Extensiéon Rotatoria.

41



Especificaciones Técnicas

Tamano 308 x 108 x 99 mm
Peso 1.7 kg
Apariencia Aleacion de aluminio

Rango de Diametro del Mandril

52 mm-80 mm

Didmetro Mdximo para Grabado

200 mm

Rango de Diametro de Grabado

Mordaza de un solo paso: 66 mm - 145 mm

Mordaza de doble paso: 1 mm -128 mm

Abrazadera anular (Perno): 13 mm -78 mm

Sistema Operativo de Apoyo

iOS 9.0+, Android 6.0+, macOS 10+, Windows 10+

Entrada de alimentacion electrica 5V/1A
Precision del angulo 0.014°
Velocidad de moviemiento en vacio 140.625°/s
Velocidad Mdaxima de Grabado 117.1875°/s
Velocidad Minima de Grabado 11.25°/s

42




Contenu du Paquet

Apercu des Composants

x3

Poupée rotative
x1

Support d'élévation
x1

¥

Vis M3x6 x 6
Vis M3x10 x 4

-
I Bouton de verrouillage
é Indicateur LED

- @

1 1
Mdchoire & un pas Composant du goujon ' 1 i < Levier
x3 x3 | 1
Entrée |
d'alimentation |
USB-C |

Plaque de base Contre-pointe
x1 x1
Cable de1,0m Ruban a mesurer
x1 x1
Sortie
d'alimentation
USB-A

Molette de réglage de I'angle

Clé hexagonale Ensemble de surélévation x 1
H2x1H25x1H3 x1 (Optionnel)

43



Assemblage de la poupée

Fixez la téte rotative d la plaque de base d I'aide de 4 vis M3x10.

Serrez fermement les vis a l'aide
de la clé hexagonale H2.

44



Assemblage méchoires / goujons

Installation des machoires en deux étapes
Pour les matériaux de 1 mm a 128 mm de diameétre.

Fixez les trois méchoires a double pas au mandrin rotatif a I'aide de 6 vis M3x6.

Serrer fermement les vis d l'aide
de la clé hexagonale H2.5.

45



Assemblage méchoires / goujons

Installation des machoires a un pas
Pour les matériaux de 66 mm a 145 mm de diameétre.

Fixez les trois mdchoires d un pas au mandrin rotatif & I'aide de 6 vis M3x6.

Serrer fermement les vis d l'aide
de la clé hexagonale H2.5.

46



Assemblage méchoires / goujons

Installation des goujons
Pour les matériaux de 13 mm a 78 mm de diameétre.

Aprés avoir déterminé le diameétre du matériau, visser les trois goujons dans les trous correspondants du
mandrin rotatif.

Visser les goujons
en place

47



Assemblage de la contre-pointe

@ Faites glisser la contre-pointe sur le rail de @ La contre-pointe sert & soutenir les objets
la plague de base. cylindriques fixés au mandrin rotatif. Une fois que la
position de la contre-pointe est réglée pour le

matériau utilisé, tournez le levier pour la verrouiller
en place.

48



Mise a niveau de I'extension rotative

Placez le support d'élévation sous la poupée rotative pour la mettre d niveau avec la plaque de base du
laser, si nécessaire.

49



Réglages du mandrin rotatif

o Pour verrouiller I'angle du mandrin, aligner les

50

points blancs sur le mandrin avec l'indicateur
de fléeche et appuyer sur le bouton de
verrouillage.

*Le bouton de verrouillage peut étre utilisé pour
sécuriser la position de départ et empécher tout
mouvement involontaire.

9 Pour accepter des matériaux de plus grand
diameétre, tourner le mandrin dans le sens
inverse des aiguilles d'une montre pour ouvrir
les mdchoires.




Réglages du mandrin rotatif

9 Serrer le mandrin dans le sens des aiguilles
d'une montre a l'aide de la clé hexagonale H3.

e Déverrouillez le mandrin en appuyant sur le
bouton de verrouillage pour qu'il tourne a
nouveau.

51



Ajustement de l'angle de gravure

@ Tournez la molette de réglage de I'angle dans le @) Desserrez la molette situé en haut de la

sens inverse des aiguilles d'une montre pour contre-pointe pour régler la hauteur du
régler I'angle de gravure de la poupée rotative. matériau fixé de maniére a ce qu'il soit de
niveau. Serrez le bouton pour fixer la position de
- la contre-pointe.
o ¢
H} Tourner la molette

@ Serrer la molette dans le sens des aiguilles d'une
montre d 'aide de la clé hexagonale H3 et
verrouiller I'angle souhaité pour la poupée
rotative.

52



Connexion du céble pour LP4 et I'extension rotative

Port USB pour le couvercle
de protection conique

Port USB pour les accessoires

Port d'alimentation DC

Pour utiliser I'extension rotative, les
accessoires d'élévation doivent étre
installés entre I'unité laser LP4 et le
support électrique. Serrez les deux
molettes pour fixer les accessoires
d'élévation en place.

Entrée d'alimentation du
support électrique

Entrée d'alimentation
USB-C de I'extension rotative

Sortie d'alimentation
USB-A de I'extension rotative

53



Connexion du céble pour LP5 et I'extension rotative

Port d'alimentation DC Port USB pour le

couvercle de protection conique

Port USB pour le
support électrique

Port USB pour les accessoires

Entrée d'alimentation de
I'extension rotative

Entrée d'alimentation
du support électrique

Pour plus d'informations sur la connexion des cdbles entre les différents modeéles de machine et
les accessoires, veuillez visiter le site support.laserpecker.net.

54



Utilisation de I'extension rotative avec I'application LDS

Obtenir de l'aide

Aprés avoir positionné I'extension rotative et I'avoir
connectée a l'unité laser, ouvrez et connectez la
machine dans l'application et activez le mode
d'extension rotative dans les parameétres du mode.

* Reportez-vous ¢ la feuille de schéma de connexion des cdbles et
A la page produit en ligne pour obtenir des instructions détaillées
sur la connexion correcte des cébles et le positionnement de
l'accessoire.

£Back Mode Settings

Working Beep

i

Free Mode
GCode

Wersatile Electric Roller

Rotary Extension I & y
Slide Extension

Slide Extension Multi-file Mode

Batch Engraving Button

Si vous rencontrez des problémes techniques,
n'hésitez pas a contacter notre équipe
d'assistance ¢ la clientéle a l'adresse
support@laserpecker.com.

Pour plus d'informations sur les produits et les
services aprés-vente, visitez le site
support.laserpecker.net.

Tutoriels Vidéo

Scannez le code QR ci-dessous pour apprendre
comment utiliser I'extension rotative.

55



Spécifications techniques

Taille 308 x 108 x 99 mm
Poids 1.7 kg

Apparence Alliage d'aluminium
Plage de diamétre du mandrin 52 mm - 80 mm
Dioameétre maximal de gravure 200 mm

Mdchoire ¢ un pas : 66 mm - 145 mm

Plage de diamétres de gravure Méchoire & deux pas : 1mm - 128 mm

Composant du goujon:13 mm - 78 mm

Systémes d'exploitation pris en charge iOS 9.0+, Android 6.0+, macOS 10+, Windows 10+
Alimentation Electrique 5V/1A

Précision de l'angle 0.014°

Vitesse de déplacement au ralenti 140.625°/s

Vitesse de gravure maximale 117.1875°/s

Vitesse de gravure minimale 11.25°/s

56




LEBIARENRI R A



LaserPrecker



